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1. (a) From the supply function Qs,=20 P,, derive
(1) -the produce'r’s supply schedule (ii) the
producer’s supply curve. What factors have been
kept constant in the given supply function ?

(2,1,2)
(b) What factors govern the size of the coefficient of

price-elasticity of demand ? ' (5)

{c) Prove that if the own-price elasticity of demand
for a particular good is greater than one, then in
some average sense the other goods are substitutes

for the given good. (5)

OR
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(a) Given the market demand function QD =500 - 50P,,

" derive-(i) the market demand schedule (ii) the

market demand curve. Find the arc-elasticity
of demand between Rs. 4 and Rs.6, Rs. 8§
.—and_Rs. 4 and midway between these two

prices.

(b} From the two demand schedutcs given bélow ™

use the total expenditure method to determine if

(1,1,3)

the associated demand curves are elastic or

inelastic. (6)
Price (Rs.)| 6 5 4 3 27 1

Qy 100 | 110 | 120 | 150 | 200 ; 300

Q, 100 | 150 | 225 | 325 | 's00 | 1100

(c) With the help of calculus, show the relationship

between Average Revenue (AR), Marginal

Revenue (MR) and price elasticity of demand

n.
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=20P, ¥ ger AR -

(4)
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#FE (8) | 6 5 4 | 3 2 | 1

Qy 100 | 110 | 120 | 150 |- 200 | 300

Q, 100 | 150 | 225 | 325 | 500 | | 100
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2. (a) I a commodity is considered an economic “good”
up to a certain level of consumption but an
economic “bad” beyond that level, what will be
the shape of the indifference curve between such

—— .. acommodity and other go-ods ? e (3).

(b} What is the Income-Consumption Curve ? Define

the Engel Curve and show how it may L¢ derived

from the Income-Consumption Curve. " (6)

(¢) What is a corner equilibrium ? If Good Y is
méasured on the y- axis and Good X on the

X- axis ana O is the origin, the consumer

. buys OM units of Good Y and no units of
Good X. Draw the consumer’s budget line and
indifference map. What is the relationship between
MRS, and the slope of the budget line at point

M ? (6)

OR

(a) What is a “neuter” ? Draw a set of indifference

111

curves relating a “neuter” to an economic

good. ‘ 3)

(b) What are the characteristics of indifference

curves ? , (6)

" P.T.O.
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. (¢) With the help of diagrams, show how the slope
of a consumer’s Price-Consumption Curve tells

us whether demand is. elastic, inelastic or unit
elastic. : ‘ {6)
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(a) State the two axioms of Revealed Preference. Use
Revealed Preference analysis to show that in the
case- of a normal good, the consumer will buy
more of it with a fall in its price. (&)

{(b) Show with the help of a diagram why a consumer

is more likely to prefer a cash transfer to an excise
subsidy. Why do governments often favour excise
subsidies over cash transfers ? (5,2)

OR

(a) All Giffen goods are inferior goods but all inferior
goods are not Giffen goods. Explain this statement
with the help of diagrams. (8)

{b) Explain the concept of consumer surplus using the
demand curve approach. How can the water-
diamond paradox be explained in terms of
consumer surplus ? | (N

(ﬁ)wm%aaﬁ@?ﬁ_waﬁﬁmnm
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4. (a) *The ridge lines defining the economic region
of production are isoclines...” Comment on
this statement with the use of appropriate
diagrams. (5)

(b} Prove that in a linearly homogeneous production
function, the average and marginal products depend
upon the ratio in which the inputs are combined,
but their values are independent of the absolute
magnitude of the inpits. (5)
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(c) Explain why, for a firm to be in equilibrium,
MRTS,, must be equal to the input price ratio.

(5)
OR

(a) What is the long-run eipansion path of a firm ?
With the help of diagrams. ~how the relationship
between long-run total cost and the expansion
path. - (5)

(b) Distinguish between returns to scale and

economies of scale. Explain the concept of cost-

output elasticity, E., as a measure of economies
of scale. (5)

" (c) What is the learning curve ? How is learning

different from economies of scale ? (5)

(%) “Teme & oifis &89 = TonNe w9 R e
mﬁﬁl’fmmwmaﬂ%@
Tyt W ol wifee

(@) fom Hifs 7 Waw w7 ¥ goaom I@e waT ¥ stea
A A Iee T@ aMEE W AR e F R e
w gake W Ra v ? wg o 1=, A &
frdy aftm & @y By F

P.T.O.



563 10

(7) = #ifve & T W S g A S
fore sw MRTS, , faw &g smE & R B
BT |

Hgdar

(%) w = detafy famm ver = B 8 7 Rl & wEEa
¥ ey ww wwE ok PR ¥ ey el
Bl

(®|) A UR WA SR WO smum srfemeETen W sE
FATEY | W - I A E, A A FENRA srfrmedn
W OAY HTT F AN F AR R |

(1) ot =% W Brem 3 7 WER smia srfamen ¥
Fitam 5w e 27

3. (a) Wriie short notes on the following :
(i) Economic Cost versus Accounting Cost

- (ii) Fixed Cost versus Sunk Cost (4)

(b) Explain with the help of a diagram how a firm

produces a given output at a minimum cost. (5)

(c) A firm should stay in business as long as the price
of its product is greater than its average variable
cost of production at the profit-maximizing output.
Explain, using appropriate diagrams. (6)
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OR

(a) What is the user cost of capital ? Explain with the
help of an example. (4)

"~(bj Stiow with the help of a diagram how a firm
makes its long-run profit-maximizing output
decision. - \ s - o

(c) Explain the concepts of Walrasian stable and

Walrasian unstable equilibrium, )
() i w Hfi Rt faf
(i) onffier o T AT AW
(ii) PR omE sAm FEe e
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